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Learning Goal: We are learning to work with the Order of Operations

Recap: Evaluate the following: B 7(]
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The same order MUST be applied when we work with fractions. Let’s do some examples:

gy | iR
RO
S
I S e B B
]yq 5- Q 5\-7} 9\
_le 0 . 3¢ &l sew=e
S g o) g 2
5 | © (o
T
[0~



5 (2@}2_1
96 1575) 2
X
:E_{, 3.5(_/)(-5: "’.__L
LT\ E L
g )
3\ _ | 6 1
2 3 & =0 | ¥ I °
_ sl | =y €
”Z*T,_ i 30 0
S V.V S Yoy
2 Y2 2 12

b=3

5 5)\3 1) 2
‘—év(- ﬂ,;é i
& 35 N
= é-ﬁ jﬁsl

5 31 Z]

ér? gvr =75
95 3
_ ¢ a5 13
T 25 5 v

In Math, you are usually given an algebraic expression which you need to use to solve given certain values.

When you substitute numbers into letters, always do so with parenthesis ().

Example: Solve the following two expressions given x =4 and y =-2.
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Application: Jimmy went to Tim Horton’s during their “Roll up the Rim” season and won a bike. However, in

order to get the bike, he had to answer the following skill testing question: 4+ 4+2><(3 +1) . Jimmy answered

16. Did he get the bike?
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| can solve multi-step questions using the proper order of operations
| can safely substitute numbers into parentheses/brackets



